AERNOVA

"“‘“‘@’

=)

Cartridge Dust Collector KOMPAC AIR WLD

960 1390 960
Alternative outlet Compressed air
with closure cap S) =l connection
\ 7 ,
—lle o] (oo,
— | — | — 2
| « |
; . OUTLET «—
, <«
) ! L | & )
=Aye N,
[
. 240 H ¥ AERNOVA B 475 2
L—
Control panel é
1 1
R S & &
INLET FLANGE DETAIL
0 > ‘ 0 °
\
\
7777777777 6 connnections to screw M8
(=1
@ \
! OUTLET FLANGE DETAIL
250
T
1
ol —| - 3
\
|
TECHNICAL SPECIFICATIONS i ‘ °
ITEM CODE WLD 2x2 -0 N conmectons toscrew M3
Weight kg 490
Number of filtering elements nr 4
Filtering surface m? 75
Max working negative pressure Pa 5000
Working Temperature °C -10<T<60
Pneumatic feeding .
(150 Class 2.4.1 according 8573-1:2010) 0 iz s
Electric control panel feeding 230 V AC 50Hz
Cartridge cleaning system pulse-jet
Number of cleaning valves nr | 2
Type of cleaning valves @1"1/2-24VDC
Compressed air tank working pressure bar 5
Max compressed air consumption NU/shot 217




Cartridge Dust Collector KOMPAC AIR WLD

AERNOVA

1390 1390 1390
Alternative outlet
with closure cap =) =)
. i i ,
) =2l
o 0 ] 7 ® © Il (0T g
| |
I <«
77X _
hN ' o
A VN
# AERNOVA 475 po
\ 348 [ =
— ‘ L—
& \ o
g
i 4
f ! f
1 1
YY) ) ) I g ¢
‘ INLET FLANGE DETAIL
e | o7
i v _
\
o ‘ o
TECHNICAL SPECIFICATIONS 190 \
Connnections to screw M8
ITEM CODE WLD 2x3
Weight kg 600
Number of filtering elements nr 6
Filtering surface m? 113
Max working negative pressure Pa 5000
Working Temperature °C -10<T<60
Pneumatic feeding .
(150 Class 2.4.1 according 8573-1:2010) o iz Ess
Electric control panel feeding 230 V AC 50Hz
Cartridge cleaning system pulse-jet
Number of cleaning valves nr | 2
Type of cleaning valves @1"1/2 - 24V DC
Compressed air tank working pressure bar 5
Max compressed air consumption NL/shot 217




Cartridge Dust Collector KOMPAC AIR WLD

AERNOVA

1390 1820 1390
Alternative outlet Compressed air
with closure cap ) S} connection
: —
YO I lo_» ol T e,
! «— !
«—
Wy «—
VEEy
i AFRNOVA. o
| 348 l -3 g
— ‘ —
/\ /\ \ Control panel %
} [ — . o]
1 ! J I
— —
D ) 7 o g @
- ! _ INLET FLANGE DETAIL
<~ | <
\
\
\
777777 + -
R | 8 connnections to screw M8
h \
‘ OUTLET FLANGE DETAIL
=N ‘ 2 ‘ 550
"ERE = — ‘ -
i T 0% QL |
T IEE -
\
\ A
‘ 1933 ‘ \
Connnections to screw M8
TECHNICAL SPECIFICATIONS
ITEM CODE WLD 3x3
Weight kg 730
Number of filtering elements nr 9
Filtering surface m? 169
Max working negative pressure Pa 5000
Working Temperature °C -10<T<60
Pneumatic feeding .
(150 Class 2.4.1 according 8573-1:2010) 0 iz s

Electric control panel feeding

230 V AC 50Hz

Cartridge cleaning system pulse-jet
Number of cleaning valves nr | 3
Type of cleaning valves @1"1/2 - 24V DC
Compressed air tank working pressure bar 5
Max compressed air consumption NU/shot 217




Cartridge Dust Collector KOMPAC AIR WLD

AERNOVA

1390 2250 1390
Alternative outlet Compressed air
with closure cap &) ) connection
—7 ——
A0 i |l ® o 8] (o)l
S N ) -+ - 3
| -
E ooy
YN —
H AERNOVA. o
3
_ LD L 418
1l

= )
1)
=D

3456

Control panel

2600
3203
1700

| [T — i
f \ ! f
— —
U ) [ t ¥ 3
‘ INLET FLANGE DETAIL
— ‘ —
\
\
\
(- - - _— + 777777 —
g !
\
\
£ | >
{4 o - L
OUTLET FLANGE DETAIL
. T T T T o
A " .\ . ]
‘ .
5 |
o — — — = | — — — — o 3
\
| |
1825 ‘ )
TECHNICAL SPECIFICATIONS Connnections to screw M3
ITEM CODE WLD 4x3
Weight kg 900
Number of filtering elements nr 12
Filtering surface m? 226
Max working negative pressure Pa 5000
Working Temperature °C -10<T<60
Pneumatic feeding .
(150 Class 2.4.1 according 8573-1:2010) o iz Ess
Electric control panel feeding 230 V AC 50Hz
Cartridge cleaning system pulse-jet
Number of cleaning valves nr | 4
Type of cleaning valves @1"1/2 - 24V DC
Compressed air tank working pressure bar 5
Max compressed air consumption NL/shot 217




Cartridge Dust Collector KOMPAC AIR WLD

AERNOVA

2250 1820

1820

Alternative outlet Compressed air
with closure cap connection

< > ® » o 1 o

111

6B
)

TR
| ABRNOVA.

111

1250

455 —

] ' = i

3456

Control panel

3203

2550

1700

[ [ —
1 i J 1
= —
VR Y) ) ) o g @
INLET FLANGE DETAIL

2270

OUTLET FLANGE DETAIL

900

190
\ |

350

‘ 2325 ‘
- Connnections to screw M8

TECHNICAL SPECIFICATIONS
ITEM CODE WLD 4x4
Weight kg 1140
Number of filtering elements nr 16
Filtering surface m? 301
Max working negative pressure Pa 5000
Working Temperature °C -10<T<60
ﬁggucnl];;:sc;iﬁ?lggcording 8573-1:2010) 0 Fizess
Electric control panel feeding 230 V AC 50Hz
Cartridge cleaning system pulse-jet
Number of cleaning valves nr | 4
Type of cleaning valves ?2-24VDC
Compressed air tank working pressure bar 5
Max compressed air consumption NU/shot 347




Cartridge Dust Collector KOMPAC AIR WLD

AERNOVA

2250
2250 1820
= = Compressed air
== T connection - = = E E -
<« V| T .
® ©® ©® e @ o 1 o T .
< 3
i |
Alternative outlet - - - -
with closure cap
&
YA b
4 AERNOVA.
z
1125
B
&
S N
|
R
<
Control panel
o
, S
{ i i
1 i f
3
) ) g v

2287

OUTLET FLANGE DETAIL

1050

° ‘

190
°

\
\
7777777 ‘777777700
\
\

TECHNICAL SPECIFICATIONS . s s s —
ITEM CODE WLD 5x4 26 ‘ \__ Connnections to screw M8
Weight kg 1300
Number of filtering elements nr 20
Filtering surface m? 376
Max working negative pressure Pa 5000
Working Temperature °C -10<T<60
ﬁggugsgsc;if?lggcording 8573-1:2010) 0 Fizess
Electric control panel feeding 230 V AC 50Hz
Cartridge cleaning system pulse-jet
Number of cleaning valves nr | 5
Type of cleaning valves ?2-24VDC
Compressed air tank working pressure bar 5
Max compressed air consumption Nl/shot 347




Cartridge Dust Collector KOMPAC AIR WLD

AERNOVA

2250
2680 1820
Compressed air
= T T = connection —————~ ==
\ -
~lle @ ® © ® @ IR ANGN o .
« 3
«— ) \
Alternative outlet
= with closure cap
a5 || ‘ ‘: 6B ::
! Al ey «—
} } AERNOVA|
803 } } 803 g
| |
| |
| |
1 1
© | |
ﬁ | I, -
T
Control panel /\ /\
| = | | —
1 i ! I I
=
7 ) ) p) ¢ @
INLET FLANGE DETAIL
— ! —
<’ | o
! 2%
\
\
\
,,,,,,,,, —— = - — —
5 \ OUTLET FLANGE DETAIL
S | ‘ 1400
\ —
| Dl | 1
3 \
% i == j = ’% O il Sl — Sy §
o - | @D |
, ¥ ¥ ¥ ¥ | ~
| | e
Connnections to screw M8
TECHNICAL SPECIFICATIONS
ITEM CODE WLD 6x4
Weight kg 1580
Number of filtering elements nr 24
Filtering surface m? 451
Max working negative pressure Pa 5000
Working Temperature °C -10<T<60
Pneumatic feeding .
(150 Class 2.4.1 according 8573-1:2010) 0 iz s
Electric control panel feeding 230 V AC 50Hz
Cartridge cleaning system pulse-jet
Number of cleaning valves nr | 6
Type of cleaning valves ?2-24VDC
Compressed air tank working pressure bar 5
Max compressed air consumption NU/shot 347




, Cartridge Dust Collector KOMPAC AIR WLD

AERNOVA

2250
3110 1820
Compressed air
= T connection
® ® — o .
as || « -
o5 -«
TEMA <«
AERNOVA
803 8
@ N
l = | l
! i t i I
3
U L 0 T @
940 | 1230 | 940
[ [ ‘:l
— | | | —
S ‘ ‘ ‘ <’ x
\
\
\
\
,,,,,, A | P
5 \
: OUTLET FLANGE DETAIL
‘ | 800
\
o ‘ .
g \
2T N o= 3
\
o [ ‘ o o
TECHNICAL SPECIFICATIONS ‘ 2075 ‘
ITEM CODE | WLD 7x4 - Connnections to screw M8
Weight kg 1700
Number of filtering elements nr 28
Filtering surface m? 526
Max working negative pressure Pa 5000
Working Temperature °C -10<T<60
Pneumatic feeding .
(150 Class 2.4.1 according 8573-1:2010) o iz Ess
Electric control panel feeding 230 V AC 50Hz
Cartridge cleaning system pulse-jet
Number of cleaning valves nr | 7
Type of cleaning valves ?2-24VDC
Compressed air tank working pressure bar 5
Max compressed air consumption Nl/shot 347




Cartridge Dust Collector KOMPAC AIR WLD

AERNOVA

2250
3540 1820
Compressed air
= T —— = connection
777777777777 1 B
® @ & ® @ . © .
475 1 i -
I i O I
o D
«—
T -
 AERNOVA. h t
[ g 2
1042 UL ] 04 S
I ' I
| |
1 1
| |
© L 1
= g —
t i ! i I
=
) ) ) ) [
1080 | 1380, | 1080 INLET FLANGE DETAIL
[ [ :'
— 1 : I
<<~ ‘ | <’
| bl
\
\
\
S U | = — = ] L
5 \
N !
: OUTLET FLANGE DETAIL
2 | €2 -
: | | | 9
T r ¥ ¥ w ¥ ¥ F 3 g |
| N — — N == 7
\
TECHNICAL SPECIFICATIONS . _ L y —t
[EMCODE | WED B “&" \__ Connnections to screw M8
Weight kg 1875
Number of filtering elements nr 32
Filtering surface m? 602
Max working negative pressure Pa 5000
Working Temperature °C -10<T<60
Pneumatic feeding .
(150 Class 2.4.1 according 8573-1:2010) 0 iz s
Electric control panel feeding 230 V AC 50Hz
Cartridge cleaning system pulse-jet
Number of cleaning valves nr | 8
Type of cleaning valves ?2-24VDC
Compressed air tank working pressure bar 5
Max compressed air consumption NU/shot 347




B

AERNOVA

ol

(IS0 Class 2.4.1 according 8573-1:2010)

Electric control panel feeding

230 V AC 50Hz

Cartridge cleaning system pulse-jet
Number of cleaning valves nr | 10
Type of cleaning valves ?2-24VDC
Compressed air tank working pressure bar 5
Max compressed air consumption Nl/shot 347

4400
(@) [®)
® ® ®

47.5 L L | ]
| |
TSR i
‘ ‘ SH
! ! IR
| | AERNOVA.
[ S
| |
10| | | | 1102
i i
| |
[ — h——0
v ! ! J
U L1 DR
1360 | 1680 | 1360
| | —
— | 1 | —
| | |
|
I
I
|
| R
\
I
I
\
|
= = = == = = = =
jm |
I:ﬁﬁ? ¥ ¥ ¥ ¥ ¥ ¥ ¥ ¥
TECHNICAL SPECIFICATIONS
ITEM CODE WLD 10x4
Weight kg 2120
Number of filtering elements nr 40
Filtering surface m? 752
Max working negative pressure Pa 5000
Working Temperature °C -10<T<60
Pneumatic feeding 0 1"1/2 GAS

Cartridge Dust Collector KOMPAC AIR WLD

2250

1820

1

(o T

?

503

T

1250

= )

Control panel

Compressed air
connection

2X

OUTLET FLANGE DETAIL

1250

190

-~ ]

350

3 N
Connnections to screw M8

1800




)
—
=
o
<
O C
<C ‘©
a 3 =
s g5 1872
o 53
£ £
= 38 !
o |
S
2 = !
° o] @ g ,
O
5 : |
= |
[
) @ |
o
= Q
© 5 ,
= AT |
© I I
& IR ,
| |
J | X |
| 7 |
@ | | |
A
[ [ |
I I ST S R Y
I 5 H=
Ll S E |
el Es T ,
[ |
| |
R : |
.
Lyl |
Sy ! - |
o = |
9 (=S | =] 7
” = W - & ,
. P |
,7@4 7 | L ,
- J
| | |
PN * e
@] T =1 |
| | %..».%N = ,
J | e i AHW 9
T s \W ——— |
. | . N
@ | |
| |
] ! ,
[ R
y | - |
|
(@)
LR = ,
[
g |
= —
@ L |
|
o @ /N W ”
=T | |J
] |
- |
5 |
00z
£0€€

955€




Cartridge Dust Collector KOMPAC AIR WLD

AERNOVA

2250

1820

. o
<« 3 INLET FLANGE DETAIL
.
PR
« N
—
R
OUTLET FLANGE DETAIL
I
N 1400

190

N S |
[
Pt [ -
Control panel T T T = === c A

1800
T~
o
=
1w

o

o

E] i
E]

3

2

= i
E]

2

8

S a
8

@

=

4 W
£

TECHNICAL SPECIFICATIONS
ITEM CODE WLD 12x4
Weight kg 2260
Number of filtering elements nr 48
Filtering surface m? 902
Max working negative pressure Pa 5000
Working Temperature °C -10<7<60
ﬁg(eJUCTaastlscgfajlggcording 8573-1:2010) 0 iz
Electric control panel feeding 230 V AC 50Hz
Cartridge cleaning system pulse-jet
Number of cleaning valves nr | 12
Type of cleaning valves P2-24VDC
Compressed air tank working pressure bar 5
Max compressed air consumption Nl/shot 347




	Table of contents
	Baghouse Filter  PULCO AIR NSB
	Baghouse Filter  PULCO AIR CSB
	Baghouse Filter PULCO AIR NTC
	Baghouse Filter PULCO AIR CTC
	Baghouse Filter  PULCO AIR ATEX NSVA
	Baghouse Filter PULCO AIR ATEX CSVA
	Baghouse Filter PULCO AIR ATEX NTVA
	Baghouse Filter PULCO AIR ATEX CTVA
	Baghouse Filter PULCO AIR ATEX NSVX 
	Cylindrical  Baghouse Filter PULCO AIR CNSB
	Baghouse Filter  PULCO AIR HTB
	Baghouse Filter PULCO AIR HTV
	Modular  Baghouse Filter PULCO AIR
	Cartridge  Dust Collector  KOMPAC AIR NSB
	Cartridge  Dust Collector  KOMPAC AIR CSB
	Cartridge  Dust Collector  KOMPAC AIR NFB
	Cartridge  Dust Collector  KOMPAC AIR CFB
	Cartridge  Dust Collector  KOMPAC AIR ATEX NSVA
	Cartridge  Dust Collector  KOMPAC AIR ATEX CSVA
	Cartridge  Dust Collector  KOMPAC AIR ATEX NFVA
	Cartridge  Dust Collector  KOMPAC AIR ATEX CFVA
	Cartridge  Dust Collector  KOMPAC AIR ATEX NSVX
	Cylindrical  Cartridge  Dust Collector  KOMPAC AIR CNSB
	Cartridge  Dust Collector  KOMPAC AIR WLD
	Cartridge  Dust Collector  KOMPAC AIR ATEX MJT 
	Modular Cartridge  Dust Collector  KOMPAC AIR
	Horizontal  Cartridge  DUST COLLECTOR OPF
	Horizontal  Cartridge  Dust Collector OPF-P
	Filtering Unit HEPASAFE
	Wet  Filtering Unit IDROMIX
	Storage silo with filtering unit
	Downdraft  TABLE LT
	Downdraft  TABLE MT 
	Downdraft  TABLE WT
	Downdraft  TABLE HT
	Cutting  shuttle table
	Downdraft  table WD
	Downdraft table WDR
	CYCLONE  Aren
	CYCLONE V-AREN
	CYCLONE HT-AREN
	SPARK TRAP
	Powder Coating PAINTING BOOTH MANUCOMPACT
	LIQUID PAINTING BOOTH TAMADRY
	MIXER ARMS WITH SCREW CONVEYOR
	Screw conveyor
	Rotary valve
	Fan
	ATEX Fan
	HT Fan
	Sound proof box for fan
	atex VENTING PANELS
	ATEX  NON-RETURN  VALVE
	DUCTWORK 
	FLUE GAS  TREATMENT PLANTS

